
A 

There are ………………...grams in one kilogram. 

There are …………………. kilograms in one tonne. 

There are ………………… mm in one centimetre. 

There are …………………. cm in one metre. 

There are …………………… m in one kilometre. 

g kg 

3,000  

1,500  

2,400  

3,800  

8,440  

 4.5 

 3.2 

 1.6 

kg tonnes 

4,500  

2,700  

6,550  

7,430  

 2.1 

 5.6 

 5.75 

 2.22 

mm cm 

50  

40  

100  

24  

6  

 70 

 6.3 

 2.1 

cm m 

140  

230  

345  

409  

53  

 2.5 

 3.05 

 0.63 

m km 

2,300  

6,700  

4,250  

3,050  

 2.7 

 3.5 

 4.08 

 4.008 

What is the same and what is different between 2.5km and 2.500km. Are the 

zeros needed? Why or why not? 


